

Fees	<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
	21798.12000	04/03/2023	75	A	1		210.00	0.80	168.00 Review file assignment materials from client; email with Therese Skarda re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/04/2023	75	A	1		210.00	0.30	63.00 Confer with Amanda Johnson re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/04/2023	47	A	1		190.00	0.30	57.00 Conference with Peter Mikhail [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/10/2023	75	A	1		210.00	1.10	231.00 Review same discovery documents/order from Therese Skarda; Teams call with Therese Skarda [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/10/2023	60	A	1		130.00	0.40	52.00 Review case status. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/11/2023	75	A	1		210.00	0.20	42.00 Email Chris Bowman re representation and service. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/11/2023	47	A	1		190.00	0.20	38.00 Review correspondence from Christopher Bowman re Tobacco license appeal; conference with Peter Mikhail re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/12/2023	60	A	1		130.00	0.50	65.00 Review email correspondence from Attorney Bowman regarding prehearing conference; review administrative law process for filing contested case. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/13/2023	60	A	1		130.00	0.30	39.00 Review administrative rules regarding service deadline; email correspondence to Attorney Bowman regarding availability for prehearing conference. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/13/2023	75	A	1		210.00	0.20	42.00 Email with Christopher Bowman re service protocol; emails with Cindy Landon and Therese Skarda re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/18/2023	75	A	1		210.00	0.20	42.00 Review draft request for ALJ and notice of appearance; email Trina Chernos and Therese Skarda re [REDACTED]. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/18/2023	60	A	1		130.00	0.70	91.00 Draft Request for Administrative Law Judge Services and Notice of Appearance; prepare memorandum regarding same. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/19/2023	75	A	1		210.00	0.10	21.00 Emails from Trina Chernos and Therese Skarda re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/24/2023	75	A	1		210.00	0.10	21.00 Email with Therese Skarda re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/24/2023	60	A	1		130.00	0.60	78.00 Review of OAH billing information; continue preparing the Request for Administrative Law Judge Services and Notice of Appearance; email	ARCH

Fees	Client	Trans Date	Tkpr	H	Tcode/	Task Code	Rate	Hours to Bill	Amount	Ref #
									correspondence to OAH regarding same. St. Paul/City of Peter's Market Tobacco License	
21798.12000	04/26/2023	75	A	1			210.00	0.10	21.00 Email from OAH re ALJ assignment; email with Cindy Landon re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	04/26/2023	60	A	1			130.00	0.40	52.00 Review email communications from the Office of Administrative Hearings regarding the prehearing conference; prepare memorandum regarding same; email correspondence to Attorney Bowman regarding the prehearing conference. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	04/27/2023	75	A	1			210.00	0.80	168.00 Email with Therese Skarda and Cindy Landon re [REDACTED] [REDACTED] review ALJ's profile; review recent ALJ decisions [REDACTED]; email from Chris Bowman re hearing date. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	04/27/2023	60	A	1			130.00	0.30	39.00 Review of assigned administrative law judge; prepare memorandum regarding same; email correspondence with OAH regarding new scheduling information; email correspondence to Attorney Bowman regarding same. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	04/28/2023	75	A	1			210.00	0.10	21.00 Email from Cindy Landon re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/03/2023	75	A	1			210.00	0.20	42.00 Begin drafting notice of prehearing conference. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/04/2023	60	A	1			130.00	1.00	130.00 Review and revise the Notice and Order for Pre-Hearing Telephone Conference; prepare memorandum regarding same; serve the Notice and Order for Pre-Hearing Telephone Conference; draft Affidavit of Service; efile Notice and Order for Pre-Hearing Telephone Conference and Affidavit of Service. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/04/2023	75	A	1			210.00	2.30	483.00 Further draft notice of pre-hearing conference. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/05/2023	75	A	1			210.00	0.10	21.00 Email Therese Skarda re [REDACTED] [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/10/2023	75	A	1			210.00	0.20	42.00 Review new court of appeals decision re tobacco license revocation. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/24/2023	75	A	1			210.00	1.30	273.00 Email with Therese Skarda re [REDACTED] [REDACTED] email and telephone call with Chris Bowman re prep for scheduling conference; review file and prep for scheduling conference; attend scheduling conference. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/25/2023	60	A	1			130.00	1.40	182.00 Review of Notice of Appearance for Peters Market; review of discovery requests; begin drafting responses to discovery requests; begin drafting discovery requests.	ARCH

Fees	Client	Trans Date	Tkpr	H	Tcode/	Task Code	Rate	Hours to Bill	Amount	Ref #
									St. Paul/City of Peter's Market Tobacco License	
21798.12000	05/30/2023	75	A	1			210.00	2.40	504.00 Review pre-hearing scheduling order and paper discovery from Peters Market; email with Therese Skarda re [REDACTED]; draft paper discovery to Peters Market; review documents from client.	ARCH
21798.12000	05/30/2023	60	A	1			130.00	0.20	26.00 Review of scheduling order; review of discovery response documents from City Staff.	ARCH
21798.12000	05/31/2023	75	A	1			210.00	0.30	63.00 Emails from Therese Skarda and Dan Nizolek re [REDACTED] email with Therese Skarda re [REDACTED]; email Chris Bowman re discovery timing.	ARCH
21798.12000	06/01/2023	75	A	1			210.00	0.20	42.00 Email from Chris Bowman re discovery; emails with Therese Skarda re [REDACTED]	ARCH
21798.12000	06/01/2023	60	A	1			130.00	0.10	13.00 St. Paul/City of Peter's Market Tobacco License Review email correspondence regarding timeframe for discovery responses; calculate City's response deadline; prepare memorandum regarding same.	ARCH
21798.12000	06/02/2023	75	A	1			210.00	0.70	147.00 St. Paul/City of Peter's Market Tobacco License Teams meeting with Therese Skarda and Amanda Johnson re [REDACTED]; confer with Amanda Johnson re [REDACTED]; email with Therese Skarda re [REDACTED].	ARCH
21798.12000	06/02/2023	47	A	1			190.00	0.50	95.00 St. Paul/City of Peter's Market Tobacco License Attend meeting with Therese Skarda and Peter Mikhail re [REDACTED].	ARCH
21798.12000	06/06/2023	75	A	1			210.00	0.10	21.00 St. Paul/City of Peter's Market Tobacco License Telephone call with Julie Kraus re [REDACTED]	ARCH
21798.12000	06/13/2023	75	A	1			210.00	0.10	21.00 St. Paul/City of Peter's Market Tobacco License Letter from Julie Kraus re [REDACTED].	ARCH
21798.12000	06/14/2023	75	A	1			210.00	1.30	273.00 St. Paul/City of Peter's Market Tobacco License Further draft paper discovery requests; email Amanda Johnson re [REDACTED]; email with Theresa Skarda re [REDACTED].	ARCH
21798.12000	06/15/2023	75	A	1			210.00	0.60	126.00 St. Paul/City of Peter's Market Tobacco License Further revise and finalize paper discovery for service; email with Therese Skarda re [REDACTED]	ARCH
21798.12000	06/15/2023	47	A	1			190.00	0.60	114.00 St. Paul/City of Peter's Market Tobacco License Review and revise draft discovery responses; review related documents; conference with Peter Mikhail re [REDACTED]	ARCH
21798.12000	06/16/2023	75	A	1			210.00	0.50	105.00 St. Paul/City of Peter's Market Tobacco License Review city documents for production.	ARCH
21798.12000	06/20/2023	75	A	1			210.00	0.20	42.00 St. Paul/City of Peter's Market Tobacco License Instructions to Cindy Landon and Becky Strop re [REDACTED]; email with Joseph Voyda re [REDACTED]	ARCH

Fees	<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
				P						
	21798.12000	06/20/2023	60	A	1		130.00	0.10	13.00	Review status of discovery response documents; review of documents from the City. St. Paul/City of Peter's Market Tobacco License
	21798.12000	06/21/2023	75	A	1		210.00	2.60	546.00	Review additional documents from client; draft paper discovery responses; email with Joseph Voyda and Therese Skarda. St. Paul/City of Peter's Market Tobacco License
	21798.12000	06/22/2023	60	A	1		130.00	0.10	13.00	Review of discovery documents. St. Paul/City of Peter's Market Tobacco License
	21798.12000	06/22/2023	75	A	1		210.00	2.20	462.00	Further prepare discovery responses; Teams meeting with Therese Skarda re [REDACTED] Teams meeting with Joe Voyda and Therese Skarda re [REDACTED]; review additional materials from Joe Voyda and Therese Skarda. St. Paul/City of Peter's Market Tobacco License
	21798.12000	06/23/2023	60	A	1		130.00	0.90	117.00	Review of discovery documents to be produced; draft the service letter enclosing City's discovery responses; review of City's discovery responses; prepare memorandum regarding revision to same. St. Paul/City of Peter's Market Tobacco License
	21798.12000	06/23/2023	75	A	1		210.00	3.00	630.00	Further draft discovery responses; emails with Therese Skarda re [REDACTED] St. Paul/City of Peter's Market Tobacco License
	21798.12000	06/23/2023	47	A	1		190.00	0.30	57.00	Review and revise draft discovery responses; communicate with Peter Mikhail re [REDACTED] St. Paul/City of Peter's Market Tobacco License
	21798.12000	06/26/2023	75	A	1		210.00	1.00	210.00	Email with Dan Niziolek and Therese Skarda re [REDACTED] [REDACTED]; revise same. St. Paul/City of Peter's Market Tobacco License
	21798.12000	06/26/2023	60	A	1		130.00	0.10	13.00	Continue preparing discovery response documents. St. Paul/City of Peter's Market Tobacco License
	21798.12000	07/14/2023	75	A	1		210.00	0.10	21.00	Email with Chris Bowman re extension to respond to paper discovery. St. Paul/City of Peter's Market Tobacco License
	21798.12000	07/26/2023	60	A	1		130.00	0.30	0.00	Draft Notice of Withdrawal of Counsel for Peter Mikhail; serve same. St. Paul/City of Peter's Market Tobacco License
	21798.12000	07/26/2023	47	A	1		190.00	1.20	228.00	Correspond with Trina Chernos, review filing deadlines and submissions; begin document review. St. Paul/City of Peter's Market Tobacco License
	21798.12000	07/27/2023	60	A	1		130.00	0.10	0.00	Efile the Notice of Withdrawal of Counsel and Affidavit of Service. St. Paul/City of Peter's Market Tobacco License
	21798.12000	07/27/2023	47	A	1		190.00	1.30	247.00	Conference with Therese Skarda; analyze [REDACTED] [REDACTED] correspond with Christopher Bowman re depositions. St. Paul/City of Peter's Market Tobacco License
	21798.12000	07/31/2023	56	A	1		190.00	0.20	0.00	Discussion and analysis of [REDACTED] [REDACTED] St. Paul/City of

Fees

<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
21798.12000	07/31/2023	47	A	1		190.00	0.50	95.00	Peter's Market Tobacco License Conference re [REDACTED] St. Paul/City of
21798.12000	08/03/2023	47	A	1		190.00	1.00	190.00	Peter's Market Tobacco License Begin analysis of discovery responses and documents. St. Paul/City of
21798.12000	08/10/2023	47	A	1		190.00	0.70	133.00	Peter's Market Tobacco License Correspond with Christopher Bowman re depositions; analyze file documents. St. Paul/City of
21798.12000	08/11/2023	45	A	1		190.00	2.10	399.00	Peter's Market Tobacco License Attend meeting regarding [REDACTED] [REDACTED]; review discovery materials and pleadings regarding the same. St. Paul/City of
21798.12000	08/11/2023	47	A	1		190.00	0.80	152.00	Peter's Market Tobacco License Conference re [REDACTED] correspond with Christopher Bowman re same; correspond with Therese Skarda re [REDACTED]. St. Paul/City of
21798.12000	08/14/2023	45	A	1		190.00	2.30	437.00	Peter's Market Tobacco License Review discovery documentation and Minnesota Rules of Civil Procedure regarding depositions and discovery disclosure requirements. St. Paul/City of
21798.12000	08/15/2023	47	A	1		190.00	2.70	513.00	Peter's Market Tobacco License Analyze Discovery responses and documents produced by Peter's Market. St. Paul/City of
21798.12000	08/16/2023	47	A	1		190.00	0.10	19.00	Peter's Market Tobacco License Correspond with Christopher Bowman. St. Paul/City of
21798.12000	08/17/2023	45	A	1		190.00	2.50	475.00	Peter's Market Tobacco License Attend meeting for discussion on [REDACTED] [REDACTED] perform research regarding flavored tobacco products, American Spirit Cigarette products, and perique tobacco. St. Paul/City of
21798.12000	08/17/2023	47	A	1		190.00	2.80	532.00	Peter's Market Tobacco License Conference re [REDACTED]; correspond with Therese Skarda re [REDACTED]; conference with Christopher Bowman re discovery and depositions; analyze related documents; correspond with Dan Nizolek, Allan Vang and Joseph Voyda re [REDACTED] St. Paul/City of
21798.12000	08/18/2023	45	A	1		190.00	0.80	152.00	Peter's Market Tobacco License Perform research regarding flavored tobacco products, American Spirit cigarette products, and perique tobacco products. St. Paul/City of
21798.12000	08/18/2023	47	A	1		190.00	0.70	133.00	Peter's Market Tobacco License Correspond with Dan Nizolek and Therese Skarda re [REDACTED]; review documents from Therese and Joseph. St. Paul/City of
21798.12000	08/21/2023	45	A	1		190.00	1.50	285.00	Peter's Market Tobacco License Perform research regarding Natural American Spirit tobacco products and perique tobacco products; review case file regarding discovery materials and filed court documents. St. Paul/City of

Fees

<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
21798.12000	08/21/2023	47	A	1		190.00	2.00	380.00 Correspond with Joseph Voyda, Dan Nowicki and Allan Vang re [REDACTED] conference with Joseph Voyda re [REDACTED]; conference with Therese Skarda re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/22/2023	45	A	1		190.00	1.40	266.00 Attend meeting regarding [REDACTED] [REDACTED]; review correspondence from city staff regarding [REDACTED]; review city's [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/22/2023	47	A	1		190.00	1.30	247.00 Conference re [REDACTED]; conference with Dan Niziolek re [REDACTED]; conference with Allan Vang re [REDACTED]; correspond with Therese Skarda re [REDACTED] [REDACTED] correspond with Christopher Bowman re depositions. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/28/2023	45	A	1		190.00	1.70	323.00 Review Minnesota Rules of Civil Procedure Rule 30 & 32 regarding depositions; review case file regarding [REDACTED] [REDACTED]; perform research regarding perique tobacco products and city's designation of flavored tobacco products. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/29/2023	47	A	1		190.00	0.30	57.00 Review deposition notices. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	09/05/2023	45	A	1		190.00	0.80	111.89 Review correspondence regarding deadlines for discovery, exhibits and witness lists, and subpoenas; review Minnesota Rules 1400.6700, 1400.6950, and 1400.700 regarding the same. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	09/05/2023	47	A	1		190.00	1.00	190.00 Correspond with Chris Bowman re depositions; correspond with City Staff re [REDACTED] correspond with Therese Skarda re [REDACTED] review related documents. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	09/06/2023	45	A	1		190.00	1.00	139.86 Review correspondence from opposing counsel regarding depositions for tobacco license revocation; review deposition notices for City of St. Paul, Dan Niziolke, Joseph Voyda, and Allan Vang; review disclosed discovery documentation regarding flavored tobacco products discovered on licensee's property in May 2022 and January 2023. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	09/06/2023	47	A	1		190.00	0.30	57.00 Correspond with Therese Skarda re [REDACTED] correspond with Joe Voyda re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	09/07/2023	45	A	1		190.00	0.30	41.96 Review correspondence from opposing counsel regarding depositions for City of St. Paul, Dan Niziolke, Joseph Voyda, and Allan Vang. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	09/07/2023	47	A	1		190.00	1.50	285.00 Conference with Christopher Bowman re depositions	ARCH

Fees

<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>P</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
									and general case discussion; conference with Aaron Price re [REDACTED]; correspond with City Staff re [REDACTED]; correspond with Christopher Bowman re same. St. Paul/City of Peter's Market Tobacco License	
21798.12000	09/08/2023	45	A	1			190.00	3.20	447.55 Review City of St. Paul's Responses to Respondent's Discovery Request; review disclosed discovery documentation from City of St. Paul; review disclosed discovery documentation from Peter's Market; review discovery documentation related to flavored tobacco products and documentation specifically related to American Spirit Tobacco and perique tobacco products; draft correspondence and organize materials related to depositions of Dan Nizolek, Joseph Voyda, and Allan Vang; review correspondence from opposing counsel regarding deposition schedule. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	09/11/2023	47	A	1			190.00	3.40	646.00 Analyze discovery documents; continue work on case strategy; research previous caselaw; begin preparations for depositions; conference re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	09/11/2023	45	A	1			190.00	1.70	237.76 Review Minnesota Rules of Civil Procedure regarding depositions and discovery; perform research regarding deposition strategy; review case file in preparation for discussion with city staff Dan Nizolek, Joseph Voyda, and Allan Vang regarding [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	09/11/2023	45	A	1			190.00	0.50	69.93 Attend meeting for discussion on [REDACTED] [REDACTED]. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	09/11/2023	45	A	1			190.00	0.50	69.93 Perform research on Office of Administrative Hearings opinions and supporting documentation regarding tobacco license revocations. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	09/12/2023	47	A	1			190.00	4.00	760.00 Meet with City Staff to [REDACTED]; analyze related discover responses and documents; conference re [REDACTED]; correspond with Chris Bowman re depositions. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	09/12/2023	45	A	1			190.00	2.20	307.69 Review correspondence, discovery materials, pleadings, and request for administrative hearing documents in preparation for meeting with city staff regarding [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	09/12/2023	45	A	1			190.00	2.50	349.65 Attend meeting with city staff for discussion regarding [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	09/13/2023	45	A	1			190.00	1.50	209.79 Review case file, discovery materials, and notes from meeting with city staff in preparation for depositions in Peter's Market tobacco license revocation.	ARCH

Fees	Client	Trans Date	Tkpr	H P	Tcode/ Task Code	Rate	Hours to Bill	Amount		Ref #
								Amount	Comments	
									definition. St. Paul/City of Peter's Market Tobacco License	
	21798.12000	09/21/2023	47	A	1	190.00	0.40	76.00	Correspond with Christopher Bowman re revised scheduling order; correspond with Judge Middendorf re same. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	09/22/2023	45	A	1	190.00	2.30	321.68	Review Motion for Summary Disposition, Memorandum of Law in Support of Motion for Summary Disposition, Licensee's Responsive Memorandum of Law in Opposition to City's Motion for Summary Disposition, City's Response to Respondent's Responsive Motion, supporting affidavits, exhibits, and Findings of Fact, Conclusions of Law and Recommendations in One Stop Market litigation. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	09/22/2023	45	A	1	190.00	1.20	167.83	Perform research in Office of Administrative Hearings database [REDACTED] [REDACTED] [REDACTED]	ARCH
	21798.12000	09/22/2023	47	A	1	190.00	0.10	19.00	Correspond with the Court re revised prehearing order. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	09/25/2023	45	A	1	190.00	1.00	139.86	Continue reviewing Motion for Summary Disposition documentation provided by St. Paul City Attorney's Office; perform research of Office of Administrative Hearings database for Administrative Law Judge opinions related to [REDACTED] [REDACTED]	ARCH
	21798.12000	09/25/2023	47	A	1	190.00	0.50	95.00	Correspond with City Staff re [REDACTED] correspond with Therese Skarda re [REDACTED] [REDACTED] correspond with Joe Voyda re [REDACTED] [REDACTED]	ARCH
	21798.12000	09/26/2023	45	A	1	190.00	0.30	41.96	Review Second Prehearing Order regarding dispositive motions; review correspondence from city staff regarding [REDACTED]. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	09/28/2023	1	A	1	130.00	0.70	91.00	Prepare supplemental response to discovery, service letter and bates label discovery document; email same to attorney. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	09/28/2023	47	A	1	190.00	0.70	133.00	Review current discovery; analyze additional documents for discovery; correspond re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	09/28/2023	45	A	1	190.00	0.80	111.89	Review correspondence regarding [REDACTED] [REDACTED] review City's Letter Serving Supplemental Discovery and City's Supplemental Response to Respondent's Discovery Request. St. Paul/City of	ARCH

Fees

<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
21798.12000	09/28/2023	45	A	1		190.00	1.20	167.83	Peter's Market Tobacco License Perform research regarding perique tobacco products; perform research of Office of Administrative Hearings database regarding [REDACTED] [REDACTED]; review Administrative Law Judge opinions in [REDACTED] [REDACTED]; review Rule 115 of the Minnesota General Rules of Practices regarding scope and application of dispositive motions. St. Paul/City of Peter's Market Tobacco License
21798.12000	09/29/2023	45	A	1		190.00	1.00	139.86	Review supplemental discovery provided by Peter's Market in tobacco license revocation litigation. St. Paul/City of Peter's Market Tobacco License
21798.12000	09/29/2023	47	A	1		190.00	1.00	190.00	Prepare and send supplemental discovery responses to Christopher Bowman; communicate re [REDACTED] [REDACTED] St. Paul/City of Peter's Market Tobacco License
21798.12000	10/02/2023	47	A	1		190.00	2.70	513.00	Correspond with Christopher Bowman re depositions; correspond with Court Reporter re same, analyze depositions; correspond with City Staff re [REDACTED] correspond with Therese Skarda re [REDACTED] St. Paul/City of Peter's Market Tobacco License
21798.12000	10/03/2023	45	A	1		190.00	2.40	456.00	Review deposition transcripts and exhibits for Dan Niziolek, Allen Vang, and Joseph Voyda for Peter's Market tobacco license revocation. St. Paul/City of Peter's Market Tobacco License
21798.12000	10/03/2023	47	A	1		190.00	0.20	38.00	Correspond with City Staff re [REDACTED] St. Paul/City of Peter's Market Tobacco License
21798.12000	10/05/2023	1	A	1		130.00	0.30	39.00	Prepare letter to OAH; file same with OAH and serve parties. St. Paul/City of Peter's Market Tobacco License
21798.12000	10/05/2023	47	A	1		190.00	1.20	228.00	Correspond with Christopher Bowman re dispositive motion; review notice re same; correspond with Therese Skarda re [REDACTED] St. Paul/City of Peter's Market Tobacco License
21798.12000	10/09/2023	45	A	1		190.00	1.20	228.00	Review documentation provided by St. Paul City Attorney's Office regarding summary disposition in tobacco license revocation litigation in preparation for meeting regarding tobacco license revocation of Peter's Market. St. Paul/City of Peter's Market Tobacco License
21798.12000	10/10/2023	45	A	1		190.00	1.00	190.00	Review documentation provided by St. Paul City Attorney's Office regarding motion for summary disposition in tobacco license revocation litigation; attend meeting for discussion regarding [REDACTED] [REDACTED] St. Paul/City of Peter's Market Tobacco License
21798.12000	10/10/2023	45	A	1		190.00	1.30	247.00	Review disclosed discovery materials and deposition transcripts in preparation for Motion for Summary Disposition in Peter's Market tobacco license revocation; review Motion for Summary Disposition documents and begin initial preparations for City's

Fees	Client	Trans Date	Tkpr	H	Tcode/	Task Code	Rate	Hours to Bill	Amount	Ref #
									motion regarding the same.	
									St. Paul/City of	
									Peter's Market Tobacco License	
21798.12000	10/10/2023	47	A	1			190.00	0.40	76.00 Conference re [REDACTED]	ARCH
									St. Paul/City of	
									Peter's Market Tobacco License	
21798.12000	10/11/2023	45	A	1			190.00	2.30	437.00 Review discovery, depositions, and other supporting documentation in preparation for drafting Notice of Motion and Motion and Memorandum in Support of City's Motion for Summary Disposition; begin drafting documentation regarding the same.	ARCH
									St. Paul/City of	
									Peter's Market Tobacco License	
21798.12000	10/12/2023	45	A	1			190.00	1.90	361.00 Review discovery, deposition and relevant case materials and prepare outline for Notice of Motion and Motion for Summary Disposition and City Memorandum in Support of Motion for Summary Disposition.	ARCH
									St. Paul/City of	
									Peter's Market Tobacco License	
21798.12000	10/13/2023	45	A	1			190.00	2.10	399.00 Review discovery materials and perform research regarding legal standards for summary disposition motions; draft, review and revise outline for city's Notice of Motion and Motion and Memorandum in Support of Summary Disposition.	ARCH
									St. Paul/City of	
									Peter's Market Tobacco License	
21798.12000	10/16/2023	45	A	1			190.00	3.50	665.00 Draft, review and revise outline for Motion for Summary Disposition and supporting memorandum; review discovery materials regarding the same.	ARCH
									St. Paul/City of	
									Peter's Market Tobacco License	
21798.12000	10/17/2023	47	A	1			190.00	1.30	247.00 Analyze materials for Summary Disposition; begin research for memorandum of law; conference with Aaron Price re [REDACTED]	ARCH
									St. Paul/City of	
									Peter's Market Tobacco License	
21798.12000	10/18/2023	45	A	1			190.00	1.10	209.00 Review examples of Motion for Summary Disposition and Memorandum in Support of Motion for Summary Disposition in preparation for drafting documents regarding the same in Peter's Market license revocation.	ARCH
									St. Paul/City of	
									Peter's Market Tobacco License	
21798.12000	10/19/2023	47	A	1			190.00	4.00	760.00 Continue work on Summary Disposition motion.	ARCH
									St. Paul/City of	
									Peter's Market Tobacco License	
21798.12000	10/24/2023	47	A	1			190.00	4.70	893.00 Correspond with City Staff re [REDACTED] begin drafting summary disposition memorandum.	ARCH
									St. Paul/City of	
									Peter's Market Tobacco License	
21798.12000	10/25/2023	1	A	1			130.00	0.20	26.00 Draft shell notice of motion for summary disposition.	ARCH
									St. Paul/City of	
									Peter's Market Tobacco License	
21798.12000	10/25/2023	47	A	1			190.00	7.00	1,330.00 Continue work on summary disposition motion.	ARCH
									St. Paul/City of	
									Peter's Market Tobacco License	
21798.12000	10/26/2023	1	A	1			130.00	0.20	26.00 Review and redline memorandum re City's Summary disposition.	ARCH
									St. Paul/City of	
									Peter's Market Tobacco License	
21798.12000	10/26/2023	47	A	1			190.00	7.00	1,330.00 Continue work on summary disposition motion;	ARCH

Fees

<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
								correspond with City Staff re [REDACTED] St. Paul/City of Peter's Market Tobacco License	
21798.12000	10/27/2023	58	A	1		130.00	0.80	104.00 Review and revise memorandum of law. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	10/27/2023	1	A	1		130.00	0.80	104.00 Review and revise summary disposition memorandum; draft service letter and affidavit of service; file summary disposition motion, memorandum and affidavit of service with the OAH; email same to opposing counsel. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	10/27/2023	45	A	1		190.00	2.10	399.00 Review Memorandum of Law in Support of City's Motion for Summary Disposition; review citation documents and discovery materials related to tobacco license revocation. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	10/27/2023	47	A	1		190.00	4.00	760.00 Complete summary disposition memo; submit same. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/06/2023	47	A	1		190.00	1.50	285.00 Communicate re Defendant's summary disposition memorandums; analyze same; correspond with Therese Skarda re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/07/2023	47	A	1		190.00	0.20	38.00 Communicate with Aaron Price re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/08/2023	47	A	1		190.00	1.50	285.00 Begin draft of reply brief. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/09/2023	47	A	1		190.00	3.20	608.00 Continue work on Reply Brief. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/10/2023	58	A	1		130.00	1.00	130.00 Review brief and provide edits. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/10/2023	1	A	1		130.00	0.30	39.00 Review City's response to summary disposition; file same with OAH; serve same on opposing counsel. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/10/2023	45	A	1		190.00	0.90	171.00 Review City of St. Paul Response to Peter's Market Motion for Summary Disposition; review discovery documents and comment on City's Response regarding the same. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/10/2023	45	A	1		190.00	1.30	247.00 Review Respondent Peter's Market Inc. Motion for Summary Disposition and corresponding exhibits A - N. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/10/2023	47	A	1		190.00	3.10	589.00 Complete Reply Brief; submit. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/13/2023	45	A	1		190.00	0.30	57.00 Review and draft correspondence regarding [REDACTED] [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/13/2023	47	A	1		190.00	1.60	304.00 Correspond with Therese Skarda re [REDACTED] [REDACTED] communicate with Chris Bowman re	ARCH

Fees	Client	Trans Date	Tkpr	H	Tcode/	Task Code	Rate	Hours to Bill	Amount	Ref #
				P						
									same; correspond with OAH; conference with Aaron Price re [REDACTED] St. Paul/City of Peter's Market Tobacco License	
21798.12000	11/14/2023	47	A	1			190.00	0.40	76.00 Review correspondence from OAH; correspond with Therese Skarda re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/15/2023	1	A	1			130.00	0.10	13.00 Review and analyze OAH Order for motion hearing and reply; communication with Attorney re same. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/15/2023	45	A	1			190.00	0.30	57.00 Review correspondence regarding motion hearing and reply briefing schedule; review Office of Administrative Hearings Order regarding motion hearing and reply briefing schedule; draft correspondence regarding the same. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/27/2023	1	A	1			130.00	0.20	26.00 Prepare shell reply; file same with OAH and serve opposing counsel. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/27/2023	47	A	1			190.00	5.50	1,045.00 Draft reply memo; analyze related documents submit to OAH. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/28/2023	45	A	1			190.00	0.60	114.00 Review Respondent Peter's Market, Inc. reply memorandum in support of motion for summary disposition; review City of St. Paul's reply to Peter's Market, Inc.'s response to the City of St. Paul's motion for summary disposition. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/29/2023	45	A	1			190.00	1.00	190.00 Review Respondent Peter's Market Memorandum in Support of Motion for Summary Disposition and reply memorandums in support of motion for summary disposition in preparation for telephone conference motion hearing. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/30/2023	45	A	1			190.00	2.00	380.00 Review discovery materials and related court filings in preparation for motion hearing regarding tobacco license revocation; draft correspondence to Amanda Johnson regarding [REDACTED]. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	12/01/2023	47	A	1			190.00	2.00	380.00 Conference with Aaron Price re [REDACTED]; analyze related documents; prep for hearing. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	12/01/2023	45	A	1			190.00	1.50	285.00 Attend meeting with Amanda Johnson regarding [REDACTED]; review discovery materials and court filings in relation to Peter's Market's Motion for Summary Disposition. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	12/04/2023	47	A	1			190.00	4.80	912.00 Prepare for and attend summary disposition hearing; correspond with Therese Skarda re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	12/04/2023	45	A	1			190.00	4.80	912.00 Prepare for and attend summary disposition hearing; draft file notes regarding case status and follow-up.	ARCH

Fees	Client	Trans Date	Tkpr	H	Tcode/	Task Code	Rate	Hours to Bill	Amount	Ref #
									St. Paul/City of Peter's Market Tobacco License	
21798.12000	01/10/2024	45	A	1			190.00	0.50	95.00 Review email correspondence regarding Order from Administrative Law Judge regarding Peter's Market; review Order on Cross Motion for Summary Disposition issued by Office of Administrative Hearings in Peter's Market tobacco license revocation; draft correspondence regarding [REDACTED] [REDACTED]	ARCH
21798.12000	01/10/2024	45	A	1			190.00	1.00	190.00 St. Paul/City of Peter's Market Tobacco License Review Plaintiff and Respondent's Motions for Summary Disposition in light of Office of Administrative Hearing's Order on Cross Motions for Summary Disposition; review City of St. Paul's tobacco ordinance regarding flavored tobacco products and penalty matrix regarding possession of flavored tobacco products.	ARCH
21798.12000	01/10/2024	47	A	1			190.00	0.40	76.00 St. Paul/City of Peter's Market Tobacco License Analyze Order on Summary Disposition motion.	ARCH
21798.12000	01/11/2024	45	A	1			190.00	1.00	190.00 St. Paul/City of Peter's Market Tobacco License Review correspondence from Peter's Market counsel regarding settlement offer; review correspondence and attached documentation from Peter's Market counsel to Office of Administrative Hearings regarding exhibits in Response to City's Motion for Summary Disposition.	ARCH
21798.12000	01/11/2024	47	A	1			190.00	0.40	76.00 St. Paul/City of Peter's Market Tobacco License Review settlement offer; correspond with Therese Skarda re [REDACTED]	ARCH
21798.12000	01/12/2024	45	A	1			190.00	0.30	57.00 St. Paul/City of Peter's Market Tobacco License Attend meeting with Amanda Johnson for [REDACTED] [REDACTED] [REDACTED] [REDACTED]	ARCH
21798.12000	01/12/2024	47	A	1			190.00	0.40	76.00 St. Paul/City of Peter's Market Tobacco License Conference with Aaron Price re [REDACTED] [REDACTED] correspond with Therese Skarda re [REDACTED]	ARCH
21798.12000	01/19/2024	47	A	1			190.00	0.20	38.00 St. Paul/City of Peter's Market Tobacco License Correspond with Chris Bowman re settlement offer.	ARCH
21798.12000	01/20/2024	47	A	1			190.00	0.10	19.00 St. Paul/City of Peter's Market Tobacco License Correspond with Therese Skarda re [REDACTED]	ARCH
21798.12000	01/22/2024	45	A	1			190.00	0.30	57.00 St. Paul/City of Peter's Market Tobacco License Review correspondence regarding settlement offer from Peter's Market in response to Office of Administrative Hearing's Order on Cross Motions for Summary Judgment.	ARCH
21798.12000	01/22/2024	47	A	1			190.00	0.30	57.00 St. Paul/City of Peter's Market Tobacco License Correspond with Angie Wiese re [REDACTED] conference with Aaron Price re [REDACTED]	ARCH
21798.12000	01/24/2024	45	A	1			190.00	1.50	285.00 St. Paul/City of Peter's Market Tobacco License Review Peter's Market and City's Motion for	ARCH

Fees

<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
								Summary Disposition and Office of Administrative Hearings Order on Cross Motions for Summary Disposition in preparation for settlement conference with Department of Safety and Inspections.	
								St. Paul/City of Peter's Market Tobacco License	
21798.12000	01/24/2024	45	A	1		190.00	0.80	152.00	Attend meeting with Department of Safety and Inspections and City Attorney's Office regarding [REDACTED] [REDACTED]
21798.12000	01/24/2024	45	A	1		190.00	0.60	114.00	Meeting with Amanda Johnson regarding [REDACTED] [REDACTED] [REDACTED] [REDACTED] St. Paul/City of Peter's Market Tobacco License
21798.12000	01/24/2024	47	A	1		190.00	1.40	266.00	Conference with Christopher Bowman re settlement offer; Conference with City Staff re [REDACTED] St. Paul/City of Peter's Market Tobacco License
21798.12000	01/25/2024	45	A	1		190.00	0.30	57.00	Meeting with Amanda Johnson regarding [REDACTED] [REDACTED] St. Paul/City of Peter's Market Tobacco License
21798.12000	01/25/2024	47	A	1		190.00	0.50	95.00	Conference with Aaron re [REDACTED] correspond with Chris Bowman re City response. St. Paul/City of Peter's Market Tobacco License
21798.12000	01/26/2024	47	A	1		190.00	0.40	76.00	Conference with Christopher Bowman re settlement offer. St. Paul/City of Peter's Market Tobacco License
21798.12000	01/29/2024	47	A	1		190.00	0.40	76.00	Conference with Christopher Bowman re settlement offer and trial continuance. St. Paul/City of Peter's Market Tobacco License
21798.12000	01/30/2024	45	A	1		190.00	0.30	57.00	Review correspondence from Peter's Market regarding revised settlement offer for presentation to City Council for consideration. St. Paul/City of Peter's Market Tobacco License
21798.12000	02/02/2024	1	A	1		130.00	0.40	52.00	File correspondence to ALJ and serve parties. St. Paul/City of Peter's Market Tobacco License
21798.12000	02/02/2024	47	A	1		190.00	1.70	323.00	Analyze communications from Chris Bowman; correspond with Therese Skarda re [REDACTED]; draft and submit letter to OAH re hearing change; correspond with Chris Bowman re same. St. Paul/City of Peter's Market Tobacco License
21798.12000	02/05/2024	45	A	1		190.00	0.40	76.00	Review correspondence and Pretrial Hearing Order from Office of Administrative Hearings in Peter's Market tobacco license revocation litigation regarding rescheduled trial date and corresponding pretrial deadlines. St. Paul/City of Peter's Market Tobacco License
21798.12000	02/05/2024	47	A	1		190.00	0.70	133.00	Review correspondence from the ALJ; communicate with Aaron Price and Therese Skarda re [REDACTED] St. Paul/City of Peter's Market Tobacco License
21798.12000	02/22/2024	47	A	1		190.00	0.40	76.00	Correspond with Therese Skarda, research City Code

Fees	<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>P</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
										re [REDACTED] St. Paul/City of Peter's Market Tobacco License	
	21798.12000	03/04/2024	45	A	1			190.00	1.50	285.00 Review correspondence regarding [REDACTED] [REDACTED] [REDACTED] meeting with Amanda Johnson regarding [REDACTED] [REDACTED] perform research and review city code regarding Department of Safety and Inspection's authority to accept or reject settlement proposals. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	03/04/2024	47	A	1			190.00	0.20	38.00 Correspond with Christopher Bowman; correspond with Therese Skarda. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	03/05/2024	47	A	1			190.00	2.00	380.00 Analyze ordinances and legal authority for settlement negotiations. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	03/06/2024	47	A	1			190.00	2.50	475.00 Prepare for and communicate with Christopher Bowman re settlement request. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	03/07/2024	45	A	1			190.00	0.40	76.00 Attend meeting with Amanda Johnson for discussion on [REDACTED] [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	03/22/2024	47	A	1			190.00	0.50	95.00 Correspond with Therese Skarda re [REDACTED] conference with Aaron Price re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	03/22/2024	45	A	1			190.00	0.30	57.00 Meeting with Amanda Johnson for discussion on [REDACTED] [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	03/27/2024	47	A	1			190.00	0.20	38.00 Correspond with Dan Niziolek re [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/03/2024	45	A	1			190.00	0.60	114.00 Review correspondence from Peter's Market counsel regarding exhibit and witness lists and trial stipulations. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/05/2024	45	A	1			190.00	1.20	228.00 Review Peter's Market exhibit and witness lists and referenced exhibits; review proposed trial stipulations. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/15/2024	47	A	1			190.00	1.50	285.00 Conference with Aaron Price re [REDACTED] [REDACTED]; analyze same. St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/15/2024	45	A	1			190.00	1.50	285.00 Review Respondent Peter's Market, Inc. preliminary exhibit and witness list in preparation for meeting with Amanda Johnson regarding [REDACTED]; review Respondent Peter's Market, Inc. Joint Statement of Stipulations and corresponding exhibits in preparation for meeting with Amanda Johnson regarding [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
	21798.12000	04/15/2024	45	A	1			190.00	0.70	133.00 Attend meeting with Amanda Johnson regarding	ARCH

Fees	<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
									[REDACTED]	
									[REDACTED]	
									St. Paul/City of Peter's Market Tobacco License	
21798.12000	04/15/2024	45	A	1			190.00	0.50	95.00 Update case file notes regarding [REDACTED]	ARCH
									in Peter's Market tobacco license litigation.	
21798.12000	04/18/2024	45	A	1			190.00	1.20	228.00 Review proposed exhibit list and corresponding exhibits in preparation for meeting with Amanda Johnson regarding [REDACTED]	ARCH
									St. Paul/City of Peter's Market Tobacco License	
21798.12000	04/19/2024	45	A	1			190.00	1.30	247.00 Review exhibits, photographs, and other documentation related to Peter's Market tobacco license revocation in preparation for meeting regarding [REDACTED]	ARCH
									St. Paul/City of Peter's Market Tobacco License	
21798.12000	04/23/2024	45	A	1			190.00	1.00	190.00 Review proposed exhibit list and corresponding exhibits from Respondent Peter's Market in preparation for meeting with Amanda Johnson regarding [REDACTED]	ARCH
									St. Paul/City of Peter's Market Tobacco License	
21798.12000	04/25/2024	45	A	1			190.00	1.10	209.00 Review discovery documents in preparation for [REDACTED] with Amanda Johnson for Peter's Market tobacco license litigation.	ARCH
									St. Paul/City of Peter's Market Tobacco License	
21798.12000	04/26/2024	45	A	1			190.00	0.60	114.00 Review discovery documents in preparation for [REDACTED] with Amanda Johnson for Peter's Market tobacco license litigation.	ARCH
									St. Paul/City of Peter's Market Tobacco License	
21798.12000	04/29/2024	45	A	1			190.00	0.50	95.00 Review correspondence regarding [REDACTED]; draft correspondence regarding [REDACTED]; review Office of Administrative Hearings Order on Cross Motions for Summary Disposition.	ARCH
									St. Paul/City of Peter's Market Tobacco License	
21798.12000	04/30/2024	45	A	1			190.00	2.60	494.00 Review discovery documents, exhibit and witness lists, and trial stipulations; draft case notes and [REDACTED] in preparation for meeting with Amanda Johnson regarding [REDACTED]	ARCH
									St. Paul/City of Peter's Market Tobacco License	
21798.12000	04/30/2024	47	A	1			190.00	0.20	38.00 Correspond with Chris Bowman re trial.	ARCH
									St. Paul/City of Peter's Market Tobacco License	
21798.12000	05/01/2024	45	A	1			190.00	0.70	133.00 Review discovery documents, exhibit and witness lists, and trial stipulations; draft case notes and [REDACTED] in preparation for meeting with Amanda Johnson regarding [REDACTED]	ARCH
									St. Paul/City of Peter's Market Tobacco License	
21798.12000	05/03/2024	45	A	1			190.00	0.90	171.00 Review discovery documents, exhibit and witness lists, and proposed trial stipulations; review case notes and [REDACTED] in preparation for meeting with Amanda Johnson regarding [REDACTED]	ARCH
									St. Paul/City of Peter's Market Tobacco License	

Fees	Client	Trans Date	Tkpr	H	Tcode/ Task Code	Rate	Hours to Bill	Amount	Ref #
	21798.12000	05/03/2024	47	A	1	190.00	2.40	456.00	St. Paul/City of Peter's Market Tobacco License Work on pre-trial preparations; correspond with Chris Bowman re same.
	21798.12000	05/06/2024	45	A	1	190.00	1.50	285.00	St. Paul/City of Peter's Market Tobacco License Review discovery materials and proposed exhibit and witness lists and trial stipulations in preparation for [REDACTED] with Amanda Johnson in Peter's Market tobacco license revocation trial.
	21798.12000	05/07/2024	45	A	1	190.00	1.70	323.00	St. Paul/City of Peter's Market Tobacco License Review proposed trial stipulations from counsel for Peter's Market; review discovery materials and draft, review and revise proposed trial stipulations in Peter's Market tobacco license revocation litigation.
	21798.12000	05/07/2024	47	A	1	190.00	1.00	190.00	St. Paul/City of Peter's Market Tobacco License Analyze witness list from Chris; strategize on trial; correspond with City Staff re [REDACTED] analyze discovery.
	21798.12000	05/08/2024	47	A	1	190.00	0.10	19.00	St. Paul/City of Peter's Market Tobacco License Correspond with Allan Vang.
	21798.12000	05/09/2024	45	A	1	190.00	0.40	76.00	St. Paul/City of Peter's Market Tobacco License Review correspondence and policy regarding [REDACTED]; draft correspondence regarding [REDACTED]
	21798.12000	05/13/2024	47	A	1	190.00	2.10	399.00	St. Paul/City of Peter's Market Tobacco License Communicate with Chris Bowman, review and revise witness and exhibit lists; analyze related documents.
	21798.12000	05/14/2024	45	A	1	190.00	0.40	76.00	St. Paul/City of Peter's Market Tobacco License Discussion with Amanda Johnson regarding [REDACTED]
	21798.12000	05/14/2024	47	A	1	190.00	2.40	456.00	St. Paul/City of Peter's Market Tobacco License Conference re [REDACTED]; analyze communications and information from Joe Voyda; correspond with the City re [REDACTED]
	21798.12000	05/16/2024	47	A	1	190.00	1.80	342.00	St. Paul/City of Peter's Market Tobacco License Review and revise Joint Witness and Exhibit list and Stipulations; correspond with Chris Bowman re same; review related correspondence with ALJ.
	21798.12000	05/20/2024	45	A	1	190.00	1.10	209.00	St. Paul/City of Peter's Market Tobacco License Review correspondence and attached documentation from Peter's Market regarding joint exhibit and witness lists and trial stipulations.
	21798.12000	05/21/2024	1	A	1	130.00	0.10	13.00	St. Paul/City of Peter's Market Tobacco License Download exhibits is preparation of OAH hearing.
	21798.12000	05/21/2024	45	A	1	190.00	1.20	228.00	St. Paul/City of Peter's Market Tobacco License Review correspondence from Amanda Johnson regarding [REDACTED], [REDACTED] review

Fees	Client	Trans Date	Tkpr	H	Tcode/	Task Code	Rate	Hours to Bill	Amount	Ref #
									documentation and begin formulating questions regarding [REDACTED] St. Paul/City of Peter's Market Tobacco License	
21798.12000	05/21/2024	47	A	1			190.00	0.90	171.00 Correspond with Joe Voyda re [REDACTED] continue trial preparations. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/22/2024	1	A	1			130.00	0.80	104.00 Prepare exhibit books for OAH hearing. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/22/2024	45	A	1			190.00	3.50	665.00 Review discovery documentation and pending case file to draft direct examination outline for Joseph Voyda, Allan Vang, and Erik Hudak in Peter's Market tobacco license revocation trial. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/22/2024	45	A	1			190.00	0.60	114.00 Review correspondence from Office of Administrative Hearings regarding exhibits, exhibit lists, exhibit index, and stipulations; review documents regarding the same; review correspondence from Peter's Market regarding exhibits and proposed trial stipulations. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/22/2024	47	A	1			190.00	0.30	57.00 Work on trial strategy and prep; correspond with Chris Bowman re same. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/23/2024	45	A	1			190.00	2.30	437.00 Review discovery documentation and pending case file to draft direct examination outline for Joseph Voyda, Allan Vang, and Erik Hudak in Peter's Market tobacco license trial. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/23/2024	47	A	1			190.00	4.50	855.00 Continue trial preparations; meet with DSI staff for [REDACTED]; analyze related documents. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/24/2024	45	A	1			190.00	1.00	190.00 Review discovery documentation and St. Paul City Code in relation to Peter's Market tobacco license revocation trial; draft, review and revise direct examination outline for Erik Hudak regarding [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/24/2024	45	A	1			190.00	0.40	76.00 Discussion with Amanda Johnson regarding [REDACTED] [REDACTED]; review correspondence to Minnesota Department of Revenue regarding [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/24/2024	47	A	1			190.00	4.50	855.00 Conference with Joe Voyda re [REDACTED] continue work on trial prep and new trial strategy. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/27/2024	47	A	1			190.00	2.30	437.00 Review and revise stipulations; communicate with Chris Bowman re same; continue trial prep. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/28/2024	1	A	1			130.00	0.30	39.00 Prepare affidavits of service; file and serve Request for Subpoena and Amended Witness List.	ARCH

Fees	<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>P</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
										St. Paul/City of Peter's Market Tobacco License	
	21798.12000	05/28/2024	47	A	1			190.00	3.70	703.00	Communicate with Dept of Revenue Agents; communicate with Eric Hudak; prepare subpoena requests; communicate with the Court and Chris Bowman; continue work on updated trial strategy; correspond with City Staff re [REDACTED]
	21798.12000	05/28/2024	45	A	1			190.00	2.20	418.00	Review correspondence from Peter's Market regarding proposed stipulations; review revised proposed trial stipulations; draft, revise and revise direct examination questions online for Erik Hudak, Joseph Voyda and Allan Vang regarding Peter's Market tobacco license revocation trial.
	21798.12000	05/28/2024	28	A	1			210.00	0.90	189.00	St. Paul/City of Peter's Market Tobacco License
	21798.12000	05/29/2024	47	A	1			190.00	3.80	722.00	Discussions with AJJ about [REDACTED]
	21798.12000	05/29/2024	28	A	1			210.00	0.10	21.00	St. Paul/City of Peter's Market Tobacco License
	21798.12000	05/30/2024	1	A	1			130.00	1.70	221.00	Email AJJ about [REDACTED]
	21798.12000	05/30/2024	47	A	1			190.00	4.80	912.00	St. Paul/City of Peter's Market Tobacco License
	21798.12000	05/30/2024	45	A	1			190.00	3.10	589.00	Work on subpoenas for Dept of Revenue; legal research re objections to additional witnesses; witness prep; continue work on trial preparations; conference with Allan Vang re [REDACTED]; conference with Eric Hudak re [REDACTED]; communicate with Chris Bowman re missing invoices.
	21798.12000	05/30/2024	28	A	1			210.00	3.70	777.00	St. Paul/City of Peter's Market Tobacco License
	21798.12000	05/31/2024	1	A	1			130.00	0.50	65.00	Perform legal research regarding ongoing discovery obligations, spoliation of evidence, and modification of pretrial orders regarding amended witness list and impeachment evidence used in Peter's Market tobacco license litigation.
	21798.12000	05/31/2024								St. Paul/City of Peter's Market Tobacco License	
	21798.12000	05/31/2024								Review rules of civil procedure for service of a subpoena; discussion with AJJ about [REDACTED]	
	21798.12000	05/31/2024								[REDACTED]; discussion with AP about [REDACTED]	
	21798.12000	05/31/2024								[REDACTED]; review the facts and witness outlines.	
	21798.12000	05/31/2024								St. Paul/City of Peter's Market Tobacco License	
	21798.12000	05/31/2024								Prepare affidavits of service of subpoenas for Jody	

Fees

<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
								True and Lindsay Rivard; file same with court; email communication with opposing counsel providing same; discuss case with DLS; provide hearing documents to DLS; forward Metro Legal invoice to AS for processing.	
								St. Paul/City of	
								Peter's Market Tobacco License	
21798.12000	05/31/2024	47	A	1		190.00	0.70	133.00	Continue preparations for trial.
21798.12000	05/31/2024	45	A	1		190.00	2.10	399.00	Review correspondence and subpoena service letters for Department of Revenue employee witnesses; review correspondence from Peter's Market regarding signed subpoenas, subpoena objections, and subpoena correspondence to Office of Administrative Hearings; review affidavits of service for Department of Revenue employee witnesses; review correspondence from Judge Middendorf at the Office of Administrative Hearings regarding issuance of subpoenas; draft correspondence to Erik Hudak regarding [REDACTED]; conference with David Sienko regarding [REDACTED]; [REDACTED]; review correspondence from Erik Hudak regarding [REDACTED]; [REDACTED]; [REDACTED]; review correspondence and attached documentation from David Sienko regarding [REDACTED]; [REDACTED]; [REDACTED]; [REDACTED]; St. Paul/City of
21798.12000	05/31/2024	45	A	1		190.00	3.50	665.00	Peter's Market Tobacco License
21798.12000	05/31/2024	28	A	1		210.00	4.10	861.00	Perform legal research regarding ongoing discovery obligations, spoliation of evidence, modification of pretrial orders, and impeachment evidence regarding character for truthfulness; review Minnesota Administrative Rules, 1400.6700, 1400.6950, 1400.7300; review Minnesota Rules of Civil Procedure 16 & 26, and Minnesota Rules of Evidence 608.
21798.12000	06/03/2024	1	A	1		130.00	0.80	104.00	St. Paul/City of
21798.12000	06/03/2024	45	A	1		190.00	2.50	475.00	Peter's Market Tobacco License
21798.12000	06/03/2024	45	A	1		190.00	2.50	475.00	Prepare documents for OAH hearing.
21798.12000	06/03/2024	45	A	1		190.00	2.50	475.00	St. Paul/City of
21798.12000	06/03/2024	45	A	1		190.00	2.50	475.00	Peter's Market Tobacco License
21798.12000	06/03/2024	45	A	1		190.00	2.50	475.00	Review Minnesota Administrative Rules, sections 1400.6700, 1400.6950, 1400.7300, Minnesota Rules of Civil Procedure 16 and 26, and Minnesota Rules of Evidence 608 regarding ongoing discovery obligations, modifications of pretrial orders, and impeachment of witnesses in preparation for motion hearing for inclusion of Minnesota Department of Revenue employee testimony in Peter's Market tobacco license revocation trial; perform research and prepare correspondence regarding the same.
21798.12000	06/03/2024	45	A	1		190.00	2.50	475.00	St. Paul/City of

Fees

<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
21798.12000	06/03/2024	45	A	1		190.00	1.80	342.00	Peter's Market Tobacco License Attend meeting with Amanda Johnson and David Sienko regarding [REDACTED] [REDACTED] St. Paul/City of Peter's Market Tobacco License
21798.12000	06/03/2024	47	A	1		190.00	4.30	817.00	Work on trial strategy and prep; conference with Dept of Revenue; conference re [REDACTED]; draft letter to Court affirming continuance request; correspond with City Staff re [REDACTED] conference with Chris Bowman re reopening discovery; new trial timeline and subpoenas; correspond with Court re new schedule. St. Paul/City of Peter's Market Tobacco License
21798.12000	06/03/2024	28	A	1		210.00	5.70	1,197.00	Meeting with AJ about [REDACTED]; review research about the ongoing discovery obligation in an OAH proceeding; review emails and attend a phone call with opposing counsel; discussion with AP about [REDACTED]; and review emails with the Court about rescheduling the OAH hearing. St. Paul/City of Peter's Market Tobacco License
21798.12000	06/04/2024	1	A	1		130.00	0.80	104.00	Meeting with DLS regarding [REDACTED] [REDACTED]; conducted research on attorneys involved with case; drafted notice of appearance for DLS; conduct research on Costco registered agent for service of subpoena; draft subpoena; conduct research on data practices to Department of Revenue; sent internet links to DLS as information can be filled out online. St. Paul/City of Peter's Market Tobacco License
21798.12000	06/04/2024	47	A	1		190.00	0.30	57.00	Correspond re [REDACTED] [REDACTED] St. Paul/City of Peter's Market Tobacco License
21798.12000	06/04/2024	28	A	1		210.00	1.60	336.00	Discussion with AP about [REDACTED]; email opposing counsel about rescheduling the OAH hearing; and discussion with AJ about [REDACTED] [REDACTED] St. Paul/City of Peter's Market Tobacco License
21798.12000	06/05/2024	1	A	1		130.00	0.50	65.00	Review Notice of Appearance for DLS; draft affidavit of service of notice of appearance; file Notice of Appearance and Affidavit with OAH; email correspondence to Court and opposing counsel attaching Notice of Appearance and Affidavit; email correspondence to OAH Efilng support to have DLS added for electronic service. St. Paul/City of Peter's Market Tobacco License
21798.12000	06/05/2024	47	A	1		190.00	0.20	38.00	Review subpoena for Costco invoices. St. Paul/City of Peter's Market Tobacco License
21798.12000	06/05/2024	28	A	1		210.00	0.60	126.00	Work on the subpoena for records from Costco; and email AJ about [REDACTED]. St. Paul/City of Peter's Market Tobacco License
21798.12000	06/06/2024	1	A	1		130.00	0.50	65.00	Review and revise Subpoena request for Costco; review and discuss [REDACTED] DLS; file Costco subpoena request with OAH; email Costco subpoena request to OAH ALJ and staff and

Fees	<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>P</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
										opposing party. St. Paul/City of Peter's Market Tobacco License	
21798.12000	06/06/2024	28	A	1				210.00	0.60	126.00 Discussion with BS about [REDACTED] [REDACTED]; and email witnesses and the OAH about possible hearing dates in September. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	06/07/2024	1	A	1				130.00	0.20	26.00 Draft cover letter for service of subpoena on Costco. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	06/07/2024	28	A	1				210.00	1.30	273.00 Discussion with an assistant at the OAH about the subpoena; review the subpoena and provide to opposing counsel; and review the fifth prehearing order and email BS about the order. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	06/10/2024	1	A	1				130.00	0.60	78.00 Review and revise service letter for Costco subpoena; review subpoena; prepare cover letter and subpoena for providing to Metro Legal for service; email communication with Metro Legal for service of subpoena on Costco. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	06/10/2024	28	A	1				210.00	0.60	126.00 Email the City and the witnesses about the near OAH hearing dates; review information about a MGDPA request to the Department of Revenue; and email agents from the Department of Revenue about the data request. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	06/11/2024	1	A	1				130.00	0.40	52.00 Review Fifth Prehearing Order; calculate and document deadlines. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	06/11/2024	28	A	1				210.00	0.20	42.00 Discussion with AJ about [REDACTED]. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	06/18/2024	45	A	1				190.00	0.50	95.00 Review Minnesota Court of Appeals decision in Sultan v. City of St. Paul regarding flavored tobacco products license revocation appeal; draft correspondence regarding [REDACTED]. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	06/18/2024	28	A	1				210.00	0.40	84.00 Review the recent Court of Appeals decision in Sultan v. City of St. Paul. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	06/25/2024	28	A	1				210.00	2.50	525.00 Review the documents from Costco's subpoena; email Costco about the documents; provide the Costco documents to the City and opposing counsel; review the Costco documents; and discussion with AJ about [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	06/26/2024	28	A	1				210.00	1.90	399.00 Review the information from Costco; discussion with AJ about [REDACTED] phone call with Joe Voyda from the City about [REDACTED] [REDACTED]; and review Joe's data and analysis. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	06/27/2024	28	A	1				210.00	0.40	84.00 Continue to review the Costco data; and email the Department of Revenue Records Manager about the data practices act request.	ARCH

Fees	<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
									St. Paul/City of Peter's Market Tobacco License	
21798.12000	06/28/2024	61	A	1			190.00	1.10	209.00 Research Rules of Civil Procedure discovery requirements.	ARCH
21798.12000	06/28/2024	28	A	1			210.00	1.20	252.00 Attend a meeting with Therese Skarda and Dan Nizolek about [REDACTED] [REDACTED] legal research about the discovery violations; and discussion with AJ and MZ about [REDACTED]	ARCH
21798.12000	07/01/2024	61	A	1			190.00	2.30	437.00 Meet with DLS to discuss [REDACTED] review Costco provided invoices; research OAH sanction procedure.	ARCH
21798.12000	07/01/2024	28	A	1			210.00	1.40	294.00 Email MZ and BS re [REDACTED] discussion with BS about [REDACTED]	ARCH
21798.12000	07/02/2024	1	A	1			130.00	1.40	182.00 Prepare second supplemental response to Peters Market discovery.	ARCH
21798.12000	07/02/2024	28	A	1			210.00	0.50	105.00 Review and revise supplemental document production and discussion with BS about [REDACTED]	ARCH
21798.12000	07/03/2024	28	A	1			210.00	1.20	252.00 Review settlement offer from opposing counsel; email Therese Skarda and Dan Nizolek [REDACTED] [REDACTED] email opposing counsel about the settlement offer.	ARCH
21798.12000	07/08/2024	61	A	1			190.00	3.40	646.00 Research enforceability of judgement and fees for OAH hearings.	ARCH
21798.12000	07/09/2024	63	A	1			190.00	1.50	285.00 Correspondence re [REDACTED] [REDACTED] research administrative law procedures for requesting and enforcing the payment of attorneys fees.	ARCH
21798.12000	07/09/2024	61	A	1			190.00	1.30	247.00 Discuss [REDACTED] with CMK; research St. Paul City Code for hearing procedures.	ARCH
21798.12000	07/11/2024	28	A	1			210.00	1.00	210.00 St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	07/11/2024	61	A	1			190.00	1.30	247.00 Email opposing counsel about the confidential settlement discussions.	ARCH
21798.12000	07/12/2024	1	A	1			130.00	0.50	65.00 St. Paul/City of Peter's Market Tobacco License	ARCH
									Prepare Third Supplemental Responses to Request for Production of Documents to Peters Market, Service letter and Affidavit of Service.	

Fees	Client	Trans Date	Tkpr	H	Tcode/ Task Code	Rate	Hours to Bill	Amount	Ref #
								St. Paul/City of Peter's Market Tobacco License	
	21798.12000	07/12/2024	28	A	1	210.00	1.50	315.00 Email BJS about [REDACTED]; draft 30.02(f) deposition; review emails from DOR; access DOR files and review DOR files; email BS about [REDACTED]	ARCH
								St. Paul/City of Peter's Market Tobacco License	
	21798.12000	07/15/2024	28	A	1	210.00	0.10	21.00 Email Therese Skarda about [REDACTED]; email opposing counsel about the pending matter.	ARCH
								St. Paul/City of Peter's Market Tobacco License	
	21798.12000	07/16/2024	28	A	1	210.00	0.80	168.00 Review topics for deposition; preparation of 30.02(f) deposition notice; email opposing counsel about DOR agent depositions.	ARCH
								St. Paul/City of Peter's Market Tobacco License	
	21798.12000	07/17/2024	28	A	1	210.00	0.60	126.00 Emails to Therese Skarda about [REDACTED]; review DOR seized tobacco.	ARCH
								St. Paul/City of Peter's Market Tobacco License	
	21798.12000	07/18/2024	47	A	1	190.00	0.40	76.00 Conference with David Sienko re [REDACTED]	ARCH
								St. Paul/City of Peter's Market Tobacco License	
	21798.12000	07/18/2024	1	A	1	130.00	0.40	52.00 Prepare Notice of Taking Rule 30.02(f) Deposition of Peters Market; prepare service letter and affidavit of service; draft service email; draft settlement offer letter to Christopher Bowman.	ARCH
								St. Paul/City of Peter's Market Tobacco License	
	21798.12000	07/18/2024	28	A	1	210.00	1.90	399.00 Email BS about [REDACTED]; discussion with Therese Skarda about [REDACTED]; draft and provide settlement letter to Peters Market; send several emails to opposing counsel about depositions and Costco data.	ARCH
								St. Paul/City of Peter's Market Tobacco License	
	21798.12000	07/19/2024	28	A	1	210.00	1.40	294.00 Review and send several emails to opposing counsel about a settlement offer and phone call with opposing counsel to discuss.	ARCH
								St. Paul/City of Peter's Market Tobacco License	
	21798.12000	07/19/2024	61	A	1	190.00	0.80	152.00 Meeting with DLS to discuss [REDACTED]	ARCH
								St. Paul/City of Peter's Market Tobacco License	
	21798.12000	07/22/2024	28	A	1	210.00	0.30	63.00 Discussion with AP about [REDACTED] email opposing counsel about settlement discussions.	ARCH
								St. Paul/City of Peter's Market Tobacco License	
	21798.12000	07/23/2024	28	A	1	210.00	0.60	126.00 Analyze email from Therese Skarda [REDACTED]; email and discussion with AJJ about [REDACTED]; email Therese Skarda about [REDACTED].	ARCH
								St. Paul/City of Peter's Market Tobacco License	
	21798.12000	07/26/2024	28	A	1	210.00	0.40	84.00 Review information about the possible settlement.	ARCH
								St. Paul/City of Peter's Market Tobacco License	
	21798.12000	07/29/2024	28	A	1	210.00	0.30	63.00 Email opposing counsel about status of settlement discussions; email Therese Skarda about the	ARCH

Fees

<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
								[REDACTED] St. Paul/City of Peter's Market Tobacco License	
21798.12000	07/29/2024	28	A	1		210.00	0.10	21.00 Email opposing counsel about status of settlement discussions. [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	07/30/2024	28	A	1		210.00	0.50	105.00 Email Therese Skarda; preparation for meeting and attend Teams meeting with Therese Skarda about [REDACTED] St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/06/2024	28	A	1		210.00	0.40	84.00 Email Chris Bowman about possible settlement; and review information about the possible settlement. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/07/2024	28	A	1		210.00	0.90	189.00 Preparation for and attend a phone call with Chris Bowman about settlement. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/08/2024	28	A	1		210.00	1.10	231.00 Email Therese Skarda; phone call with Therese Skarda about [REDACTED] [REDACTED]; email Dan Nizolek about [REDACTED]; meeting with Dan Nizolek about [REDACTED] and email opposing counsel about settlement. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/15/2024	1	A	1		130.00	0.10	13.00 Review email communication with opposing counsel re settlement of matter; update file accordingly. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/15/2024	47	A	1		190.00	0.70	133.00 Conference re [REDACTED] [REDACTED]. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/15/2024	28	A	1		210.00	1.30	273.00 Email Therese Skarda about [REDACTED] [REDACTED]; email Chris Bowman about the stipulated facts and notifying the OAH about settlement; review information to the OAH about the settlement. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/16/2024	1	A	1		130.00	0.20	26.00 Review email communication with opposing counsel re settlement of matter; update file accordingly. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/16/2024	28	A	1		210.00	0.10	21.00 Email the ALJ about the settlement. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/22/2024	1	A	1		130.00	0.20	26.00 Review and respond to emails from DLS. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/22/2024	28	A	1		210.00	0.40	84.00 Email the OAH and BS about the official record. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/26/2024	28	A	1		210.00	0.10	21.00 Email Jody True from the DOR regarding the case's resolution. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/29/2024	28	A	1		210.00	0.10	21.00 Email about the settlement. St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	08/29/2024	28	A	1		210.00	0.50	105.00 Start preparing the stipulated facts.	ARCH

Fees	<u>Client</u>	<u>Trans Date</u>	<u>Tkpr</u>	<u>H</u>	<u>Tcode/</u>	<u>P</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
										St. Paul/City of Peter's Market Tobacco License	
21798.12000	09/30/2024	28	A	1				210.00	0.10	21.00 Email Therese Skarda about [REDACTED]	ARCH
21798.12000	10/11/2024	28	A	1				210.00	1.00	210.00 Draft the stipulated facts and provide them to opposing counsel.	ARCH
21798.12000	10/14/2024	28	A	1				210.00	0.10	21.00 Email opposing counsel about the draft stipulated findings of fact.	ARCH
21798.12000	10/30/2024	28	A	1				210.00	0.10	21.00 Email about the stipulated facts.	ARCH
21798.12000	11/06/2024	28	A	1				210.00	0.10	21.00 Email about fact stipulations.	ARCH
21798.12000	11/07/2024	1	A	1				130.00	0.10	13.00 Review redlined agreements from the City and Peters Market.	ARCH
21798.12000	11/07/2024	28	A	1				210.00	1.60	336.00 Review all the redlined changes from the City and Peters Market; draft an updated stipulated facts; email the City about the updated redlined changes to the stipulated facts.	ARCH
21798.12000	11/10/2024	28	A	1				210.00	0.10	21.00 Email opposing counsel about the stipulated facts.	ARCH
21798.12000	11/13/2024	28	A	1				210.00	1.20	252.00 Analyze the redlined changes from Peters Market regarding the Fact Stipulations; and revise the redline fact stipulations.	ARCH
21798.12000	11/14/2024	28	A	1				210.00	0.50	105.00 Email Therese Skarda [REDACTED]	ARCH
21798.12000	11/20/2024	28	A	1				210.00	0.10	21.00 St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/21/2024	28	A	1				210.00	0.10	21.00 Email about [REDACTED].	ARCH
21798.12000	11/25/2024	28	A	1				210.00	0.50	105.00 St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	11/27/2024	28	A	1				210.00	0.20	42.00 Peter's Market Tobacco License	ARCH
										Analyze the most recent email and information from opposing counsel.	
										St. Paul/City of Peter's Market Tobacco License	
Total for Fees								<u>Billable</u>	<u>395.70</u>	<u>72,326.00</u>	
Expenses											
21798.12000	12/31/2023	23	A	13				0.200		104.80 Photocopies	ARCH
										St. Paul/City of Peter's Market Tobacco License	

<u>Client</u>	<u>Trans Date</u>	<u>H</u>	<u>Tcode/</u>	<u>Task Code</u>	<u>Rate</u>	<u>Hours to Bill</u>	<u>Amount</u>	<u>Ref #</u>
Expenses								
21798.12000	12/31/2023	23	A	20	0.490	0.49	Color Copies St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/31/2024	23	A	13	0.200	11.60	Photocopies St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/31/2024	23	A	20	0.490	178.36	Color Copies St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	06/30/2024	28	A	13	0.200	13.00	Photocopies St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	06/30/2024	28	A	20	0.490	158.76	Color Copies St. Paul/City of Peter's Market Tobacco License	ARCH
Total for Expenses				Billable	<u>0.00</u>	<u>467.01</u>		
Advances								
21798.12000	10/04/2023	47	A	50		299.12	Twin West Reporting, LLC - transcript St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	10/04/2023	47	A	50		361.88	Twin West Reporting, LLC - transcript St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	10/04/2023	47	A	50		378.91	Twin West Reporting, LLC - transcript St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/31/2024	1	A	36		150.00	Metro Legal Services, Inc. - legal process service, witness fees St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	05/31/2024	45	A	17		434.32	Westlaw charges St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	06/03/2024	45	A	17		129.12	Westlaw charges St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	06/10/2024	1	A	36		70.00	Metro Legal Services, Inc. - legal process service St. Paul/City of Peter's Market Tobacco License	ARCH
21798.12000	06/18/2024	28	A	50		15.00	State of Minnesota - Subpoena fee St. Paul/City of Peter's Market Tobacco License	ARCH
Total for Advances				Billable	<u>0.00</u>	<u>1,838.35</u>		
GRAND TOTALS								
				Billable	<u>395.70</u>	<u>74,631.36</u>		